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It was not necessary...only for the depreciation of the carcass

OVERVIEW

The ®X2) explained that according to the X01p X1l Xa?5 7"n (meaning that in reality
the 21 should be 7105 and the P11 will not receive anything), when the 71wn states
lmswna (Pmam) pran we are (not discussing the p1l ¢, but rather we are)
referencing the 11%°21 nno that occurs between the time of damage and the time of
going to court. This depreciation is the loss of the p11, and that is his contribution
to the ‘payment’. Moo will explain why accepting this :77°21 N9 is considered as
a payment by the 1°3; if he is basically not entitled to receive any payment at all.

MooIN anticipates a question:

= 957 INDT DIPYYT 23 bY 9N
Even though the pr1 is taking what is not rightfully his; for since xo1p Xpr1 R399, the
P11 is not entitled to any payment. Why therefore does the mwn state 1m%wna (P> ram) proam; for
even though the pr1 suffers the 77°21 nnd, however the P never owed him anything in the first
place! Why is it considered as if the P11 is contributing something? He only gains!

N1B0IN answers:
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Nevertheless, once the 7710 entitled the 1°1 to receive a 3''m -
—15Y 7Y% NNOY NN PMYUNA DIIPNT 7Y 13%auN

We do consider that the 1°1 is contributing, in the payment process, his loss of

the depreciation of the ;7%°21. Once the 770 grants the P11 a P11 °¥n he is entitled to the
entire pr1>¥n.” Any loss of this pr1 *¢n (such as the 79°21 nrd) is considered as payment by the P11 -

[mooIn anticipates an additional difficulty* (which has already been resolved):]
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' The pr1 also contributes to the payment (by accepting a lesser amount than he is entitled to).

% The P11 °¥n which the P11 does not receive cannot be considered his contribution, since he should not receive
anything at all.

? See “Thinking it over’ # 1.

* Moo may be bothered why is the 72721 no considered that the pr3 is part of the m7wn. The ox was killed; the
2°21 belongs to the pr1. Whatever loss the P11 incurs afterwards (the 719°21 nno), should (seemingly) be considered a
loss that any person would have if he fails to protect his property. The p1°1 failed to sell his ox as soon as it was
killed, therefore it is his loss. Why should this loss be attributed to 1"m>wn of the pr21 towards the prn?! See
following footnote # 5 and ‘Thinking it over’ # 2.
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(And) [For] the 171 cannot say to the P17, ‘the horn of your ox is buried in my
cow’, and therefore (the horn of) your ox is causing the depreciation, and you, the
P>, should suffer the depreciation loss.’ This claim of the ?1°1 will not be honored
as I explained previously.*

SUMMARY

The 171 is entitled to the X0ip Xpr1 X399 (once the 7N awarded it to him) and
therefore the loss of 119°21 nrv is considered a contribution of payment on behalf of
the pra.

THINKING IT OVER
1. How did m»oin view the payment of X01p X1l Xa79 in his (initial) question as
opposed to MdoIN view in the answer?’

2. Is there any connection between the last question (and answer) of moon,” and
the previous discussion in this moo1n?°

> mpon explains that this loss of 7%°21 nno is considered PmPwn of the P11 for the prom, since the P11 can claim that
the P17 is causing this loss for 772 X7°2p 7707 X17p. The 11 is continually causing the deterioration of the killed ox.
This loss however must be paid for by the 11 as N1501n concludes.

% moon explained there that only in a case where the cow was wounded and its condition deteriorated, do we say the
1 suffers the depreciation, for the 11 was hoping that the cow would improve. However, when the cow died, the
711 should have sold it immediately, and if he did not, the 11 suffers the loss.

7 See footnote # 3.

¥ See footnote # 4.

? See 3%pn MR 1"1 1 and 7N MK 93,

2

TosfosInEnglish.com



